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Derivatives 30 EX 30.3 Q1

we have todifferentiate f (x ) withrespect tox

:—x(x" - 2sinx + 3oosx)
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= 4x3 - 2cosx - 3sinx
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wehave todifferentiate f [x Jwithrespect tox
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Derivatives 30 EX30.3Q3 ¥
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Wehave,

d xloga 2logx bga
a(e +e +e b7

- i(exloga)_‘_i‘ealoqx) +i(ealoqa,
dx dx dx
- %199 |oga +e*19% 2 4 0 [ e*199%g constant]
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- logaequa + ienlogz
X
= logaa” +§x‘ [a’ canbe written ase”\%?

= 3 loga+ax’?
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Wehave, X \ &'
d . 2 \’ \y“’
d—x(zx +1)(3x+2) ‘ O
=(3x+ 2]%[2x2+ 1)+(2x2+ l)c;ix[ax +2) A [Usw'ng’p(roduct rule]
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- ‘12x2+8x+6x2+3) / tl Qﬁ“
2 1 y N\
=18x“+8x+3 - ».\Q}
Derivatives 30 EX30.3Q6 .~
Wehave,
if'()r} = i(h:ngax +3log, x +2 tanx)
- @d}( {Iogx) 3.2 {loﬂ.x) + zdx (t:nx) [ logax = %
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Wehave,
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Wehave,

dx[&+7;] c:;z\
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-dx[x +3X'J;+ x.x+;,z) [(a+b} =a’+33°b+3ab +b]

= %(X%+3XK+3X-H+X“)
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Wehave,
d(2x2 +3x+ 4
ax %
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Wehave,

d [(x?’ + 1) (x - 2)]
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Wehave,
d (acosx +bsinx +¢
ax sinx

ai[c'?sx]+bi(1)+ci( 1 ]
dx \sinx ax dx \sinx
= a(- cosec?x )+ 0+c(- cosec x.cot x)

= —3cosec?x - ¢ cosecx.cotx
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Wehave, / Q/}f‘
ad X >\
d—x(2secx +3cotx - 4tanx) X \’x.;
. ; W
d d d 2
= 2 (2secx) +3 —(cot)s 4 (tahx) éﬁ*
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Wehave 4 Q‘Q
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Wehave,

i 1 +2203+ 4
dx | sinx logx*

d d d |
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i[lOQ(L)+':‘»x"—3a"+3‘/ x2 +61 x‘3]
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Wehave, N 0(32“
d i \Y)
a[oos {x +a)) \ \Q§§»
e
- %(cosx.wsa - sinx.sina) C:,Q‘ [ cosfx +a) = cosx cosa - sinx sin a]

= cosai(oosx)— sinai(sinx)
ax ax

= cos (- sinx) - sina(cos x)

= COSX SIN@ + SiNx C0S &

= -(sinx cosa+ cos x sina)

- -sin(x +a)



